RSAR B2 7 F -5 R

For timing belts - idler pulley

B R BE®Emm) 10 15 20 25 o A EEEE RS
AT s wer wear s = -
= = = = Yl AB
sRas y SY=A
#a W emm AK
AR
Y B 7z {lEhEeS i:ﬁ% ?2
w e . REMER TN
— A A How to order w{)
& — ] b - 9 ©F
%9) i A | —— DU - 20 - 56T - 10-[ | -]
N 2 ol mm@@ 2
AL hiy ] i -
# o g L[ o 3 Tl & o J e ol
# o "] i B © i .
E L L | 59 L EIBRERIE
@ ® o | IoICH| & | e
A Z | A+ B EISHE
i i 4 L — , SEAREALBB. oo
gl el.8 |e e8] B e 8| |8 BRI,
= {ah S45C+L
TRES AR SA5CHRBARIL...
U g g B : mm
Bl E PR Rl ERRF
By arEE BR J P.D 0.D E Fod © 2
No. B D Damk e (0z11] No. B D Dag&k
15+ 23.87 22.73 18 28 696ZZ 2pc 5 15 134 3 Ri5
6 60622 6 17 15
16 §Y=F 25.46 24.32 20 . 6062Z fpc 6 17 15 5 RI7
18 il 28.65 275 225
69822 6 19 17 5 R19 698ZZ 2pc 6 19 17
20 , 8 31.83 30.69 24 35
22 ) 35.01 33.87 28 40 62822 8 24 22 4 R24 6082Z 7 22 20
24 38.2 37.05 42 6900272 6 22 20
30 600022 8 26 24 4 R26
25 10 39.79 38.65 45
26 41.38 40.24 -
e AT 002z 9 30 25 35 R30
28 °GT 44.56 43.42 37 49
30 W=16 47.75 46.6 40 52
32 50.93 49.79 55
34 v 54.11 52.97 wm | e
35 &R 12 55.7 54.56 620122 1pc 10 32 27 3 R32 —
36 57.3 56.15 45 65
38 60.48 59.34
525 675
40 63.66 62.52
o 15 968 = 59 73 6002ZZ 9 32 30 35 R32
44 70.03 68.89 '
18+ 28.65 275 225 32
69827 6 19 17 5 R19 6982z 6 19 17
20+ 8 31.83 30.69 24 35
22+ 35.01 33.87 28 40 6282Z 2pc 8 24 22 3 R24 6082Z 7 22 20
24+ 38.2 37.05 42 690022 6 22 20
30 600022 8 26 24 3 R2
25+ - 39.79 38.65 45 600022 8 26 24
26 41.38 40.24 a7
(EYEF) 3 620022 9 30 25 65 R30 620022 9 30 25
28 44.56 43.42 37 49
30 5GT-15 47.75 46.6 52 2pc
A=17 40
32 w=22 50.93 49.79 55
12 6201272 10 32 27 6 R32 600122 8 28 26
34 54.11 52.97
Z 44 62
35 (@) 55.7 54.56 1pc
36 57.3 56.15 45 65
38 60.48 59.34
525 67.5
40 15 | 63.66 62.52 620277 11 35 30 55 R35 600222 9 32 30
42 66.85 65.7 s | 73
44 70.03 68.89
18+ 28.65 275 225 32
69827 6 19 17 75 R19 69822 6 19 17
20+ 8 31.83 30.69 24 35
22+ 35.01 33.87 28 40 62822 8 24 22 55 R24 60822 7 22 20
24+ 38.2 37.05 42 690022 6 22 20
30 600022 8 26 24 55 R26
25+ 10 39.79 38.65 45 600022 8 26 24
26+ 41.38 40.24 47 2
. e 62002z “P° 9 30 25 45 R30 620022 9 30 25
28+« 44.56 43.42 37 49
30, 9GT-20 47.75 46.6 52 2pc
A=22 40
32« =27 50.93 49.79 55
12 620122 10 32 27 35 R32 620122 10 32 27
34+ 54.11 52.97
Z 44 62
35+ () 55.7 54.56
36 57.3 56.15 45 65
38 60.48 59.34
525 67.5
40 15 = 63.66 62.52 6302ZZ 1pc 13 42 36 7 R42 620227 1 3 30
42 66.85 65.7
59 73
44 70.03 68.89
18+ 28.65 275 225 32
698272 6 19 17 5 R19 69822 6 19 17
20+ 8 31.83 30.69 24 35
22+ 35.01 33.87 28 40 62827 8 24 22 3 R4 6082Z 7 22 20
24+ 38.2 37.05 42 690022 6 22 20
30 600022 8 26 24 3 R2
25+ 10 39.79 38.65 45 6000ZZ 8 26 24
26+ 41.38 40.24 34 47
620022 9 30 25 45 R30 620022 9 30 25
28+ 4456 43.42 37 49
30+ 5;\935 7 47.75 46.6 o0 2 2pc 2pc
32+ w=o7 (@) 50.93 49.79 55
12 620127 10 32 27 35 R32 620122 10 32 27
34+ 54.11 52.97
4 62
35+ 55.7 54.56
36+ 57.3 56.15 45 65
38+ 60.48 59.34
525 67.5
40+ 15 63.66 62.52 620277 11 3 30 5 R35 620222 1 35 30
42+ 66.85 65.7
59 73
44+ 70.03 68.89

¥ 10mm: (15" 1) BhR E RS 2@ 8 o
15mm:(18*~25"¢x) Bi7& & FRAEFHT 2@ 8% o
20mm:(18*~35* &) #& B FRAFH 2{EEhA o
25mm:(18*~44* &) #h& B FPRFH 2{EEhA o

Che Na (02)2688-3177 ‘ info@chena.com.tw ‘ © Eg;;gggg:g;gis ‘ @ itk E e A 2198



